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1. (g) som guledn G x Bvvews! gdmEm® mS BERS 8@ gmded cxstdsim,
i.  f(x)=0Cx+4)>%*x+5)
i fl) = 2;;4 (cmem 3x2=6)
() von ¢ufedn @ma@ Beg qzoo@w qeawem @e3E I,

L flEY) = e e’
i £, ) = (xPy +xy® — yH)'3 . . (cmem 3x2=6)

(41) vo> edn §nde 8O gdmes ewwsis.
i f(o,y) =x*y+yx—x _ _ Y : e i .
ii. £ (x,y) = In(x® + 4xy® — y) = (cmem 4x2=8)

2. (). y = x* — 6x% Oped NS runsnes? e eﬁ’aa cesB@ ep@@ ewd BB exlesesy
¢ wiy Bbwms m6 Dned qg aaawzﬁasf qaeesi’zs) o

 (eme12)
(g0). ¥y = x% — 6x% + 9x — 4 Oped ¥HNOS rbenes’ eww $D o8, gD owd HEADEOH
culusasy ¢ ewln BEme mosis., (emen 8)
3. uum ¢tedn En engﬁ)@m@ sl
. [(2x*+ 323 =5 - 5)dx (cme 2)
ii. [cos2xdx | - (cmen 2)
i.  [e?*dx (cmen 2)
iv. [ 2x2+x6x—8 dx (cme 6)
1 x%-1
v fo x3-3x:+3 dx : : (cme 4)

vi. fonsinzx dx (cmem 4)



4. vun qleds G 0mdd Daewst ewd tgt NG WD WIdH MS ewd gTMEHG MBI,

i [x%e ¥ dx (cmem 5)
i dx (cmem 3)
i. [ e*sin(x)dx (emen 5)
iv. [a(x+1)dx (cmegm 3)
v. [ xsin(2x) dx (cmen 3)
vi.  [lInxdx (cmen 1)

5. (9. a=1+4 -3k eswb =2i— 5] — 6k ceclm o¢end ¢8n gdhns cwwsIs.

- , : (e 2)

(g0). a =41 — 3] + 2k es20 b = 21 + j + 3k 00¢Bm 0¢m gn8 endms ewiwsiz. _
(cnem 4)

(1) @ = 2L + ] — 3k ww b = 4l — ¢] — 6k 00¢B2 04 ©@25I0S O ¢ B gow cwIwsIm. '
(c=em 4)

(@) @ =1+ 3] + 2k & b = 2i + 7] + Sk e0¢lm ogm @i 8¢ Dnewss’ g wdtgrged
DEOSE® @wawesis. (cmem 4)
(2)- @ = 3i+ 2]+ 5k ww b = 4i + 3] + 5k 00¢@m 0g® ¢»d enwdmed wBz? (sm) 8®d

(edenw 0 50 sind gnae) ewwsiz, (cmen 6)

6. =wm cufeds qaaaae wBmden BesersIz.

i dy+ 3x2dx =0 (emen 2)
i Z_Zl n(x) —2 =0 (cmea 3)
dy ¥y
I St (cmem 4)
iv. (—xDdx+xdy=0 (cmes 5)
v.  3x(xy—2)dx + (2% + 2y)dy =0 (e 6)

7. vom gedn 8008 udmom uvdBne 2508 w8 WS (T 608 BBw WM ezWS)
Descsim,

x+2y+z=0
3x+y—2z=-5
2x+3y+4z=8 (emen 20)

5 2 3 2 3
8 (9).4A= (3 4 2 ) ww.B = (7 6) e @genl AB géme ewinesin.

4 6 5 4 1
(cmyem 08)
(80). v® 2800 WM wWdmdem vddBs 1B BBw VB WS Bueris,
2x+4y+z=3
3x—2y+3z=-4
x+6y—z=38 (cmen 12)
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